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SAMPLE PAPER - 2008
Class - X
SUBJECT - MATHEMATICS
General Instructions:

[1] All questions are compulsory.

[2] This question paper consists of 30 questions divided into four Sections A, B, C and D. Section-A consist of 10 questions of 01 marks each, Section -B consists of 5 questions of 02 marks each, Section - C consist of 10 questions 03 marks each and  Section – D  consist of 5  questions 06 marks each.
[3] All questions in section – A are to be answered in one ward, one sentence or as per the exact requirement of the question.
[4] There is no overall choice. However, internal choice has been provided in one question of Section- B, three questions of Section-C and two questions of Section-D. You have to attempt only one of the alternatives in all such questions.
[5] In question of construction, drawings should be neat and exactly as per the given measurements.
[6] Use of calculator is not permitted.
SECTION A
1. Write down at most zeros of a polynomial of degree n.

2. Express 875875 as the product of its prime factors.

3. The sum of two numbers is 8. If their sum is four times their difference, find the numbers.

4. Discuss the nature of roots of the quadratic equation: 
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5. How many terms of the A.P. 26,21, 16…..are together equal to 80?

6. In a right angled triangle ABC, angle A = 900 
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. Prove that 
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7. If 
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 find the value of Sin(
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 are the acute angles.

8. Find the perimeter of a circular plot which occupies an area of 154  sq.m.

9. Mean of n observations is 25, if each number is increased by 7, what will be the new mean?

10. A card is drawn at random from a pack of 52 playing cards. Find the probability that the card drawn is neither an ace nor a king.

SECTION B

11. The arithmetic mean of the following data is 14. Find the value of p.           

	X:
	5
	10
	15
	20
	25

	F:
	7
	p
	8
	4
	5


12. In the adjoining figure OACB is a quadrant of a circle with centre O and    

      radius 7cm. If OD = 4cm, find the area of the shaded region
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13. Find a point on x-axis which is equidistant from the points (7,6) and (-3,4).
14. If one zero of the polynomial P(x)= 
[image: image10.wmf]22

(4)134

axxa

+++

is reciprocal of the other, find the value of a.

15. The n th term of an A.P. is given by tn = 4n-5. Find the sum of first 25 terms.  

         OR,   The sum of first n terms of an A.P. is given by Sn = 2n2+ 5n, find the nth    

     term of A.P.

SECTION C
16. 300 apples are distributed equally among certain number of students. Had there been 10 more students, each would have received one apple less. Find the number of students.
17. The perpendicular AD on the base BC of triangle ABC intersect BC in D, such that BD = 3 CD. Prove that 
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 and AB = 4 cm, find the value of DC.
18. Find the area of quadrilateral ABCD whose vertices are (-4,-2), (-3,-5), (3,-2) and (2,3) respectively.
19. Evaluate: 
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       OR,    Prove: 
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20. Draw a line segment AB= 8 cm. Taking A as centre, draw a circle of radius 4cm    

      and taking B as centre, draw another circle of radius 3 cm. Construct tangents to   

      each circle from the centre of the other circle.
21. The area enclosed between the two concentric circles is 770 cm2. If the radius of the  

      outer circle is 21 cm, calculate the radius of the inner circle.

22. A bag contains 10 white balls, 5 red balls, 8 blue balls and 7 black balls. A ball is  

      drawn at random from the bag. Find the probability that it is: 

     (i) either white or black  (ii) neither white nor red ball.

23. Find the coordinates of the points of trisection of the line segment joining the points   

     P(2,-2) and Q(-7,4).

     OR,     Determine the ratio in which the line 2x + y -4 = 0 divides the line segment   

     joining the points A(2, -2) and B(3,&).

24. Using Euclid’s algorithm, find the H.C.F. of 144, 180 and 192.
25. Solve graphically:  5x – 3y + 30 = 0 ; 5x + 4y  – 20  = 0. 



Also, write the vertices of the triangle obtained by these lines and x-axis.
SECTION D

26. A man on the top of a tower observes a car moving at a uniform speed coming    

      directly towards the foot of the tower. If it takes 12 seconds for the angle of    

      depression to change from 30( to 60(, how soon after this, will the car reach the 
      tower?
27. State and prove Pythagoras Theorem. Using it, prove that the sum of the squares of 
      the sides of a rhombus is equal to the sum of the squares of its diagonals.
28. A circus tent is cylindrical to a height of 3 m and conical above it. If its base radius   

      is 52.5 m and the slant height of the conical portion is 53m, find its capacity and the   

      area of the canvas needed to make the tent. ( use ( = 22/7)

                      OR
The diameters of the ends of a frustum of a cone 35 cm high are 42 cm and 14 cm. Find its volume, the curved surface area and the total surface area. ( use ( = 22/7)
29. In triangle ABC, 
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     AB= 6 cm, BC= 8 CM. Find the radius of the
      incircle.
30. If the mean of the following data is 57.6. Find the missing frequencies.

	Class
	0-20
	20-40
	40-60
	60-80
	80-100
	100-120



	Frequency
	    7
	    f
	     12
	    g
	     8
	      5
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“You see things; and you say "Why?" But I dream things that never were; and I say "Why not?" George Bernard Shaw



You will never leave where you are, until you decide where you'd rather be. 


  “Your aspirations are your possibilities”. Samuel Johnson: 
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